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4.3 - OQ-;Lr'mr'EJ'fg‘ Fonctions of Two Variables

ol F(x,j)= Rx? = 3y 2
Ry = Ix =0 g X=0,y=0  crit ut (0,0)
] Fj = «éj =0 '
o Fxx = ‘/,fyg:‘é ,ij:c}.
D= A - (0y2 = ~RY
. Dlood= —24 c0 | sp (0.0) isa SQdJ/E,/oo;'nf.
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= 3 - SJ)( o > 3 = X2 . Sub rm % '>( (gyzjz:
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;.- ‘P\rjj = /é\j—‘g X(glﬁxs);a
. va ‘.-"»} L)X:O'L/X:i-
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FKXSB— -"x*’ B2 x *j ~ 12y +?

CPrs mdx3-32 = 4 (x318)=0 > x=n
PPy = 3yt-la s 3(4i-¢) s0 > gy ig

Dlxyd= ~Faxiy=0 = D)= TRl o

Faxt=2,"2)=~12(4) 26 nox ot {42,'_2)
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Sec tion F.3~ oot
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“F(Kj).»- xlf\jz +y
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'p)( = ‘%{ngﬂ)& - (Xz ;,&gf—éj 2 0 = ~X J”‘/‘J 2 Yd=0
o - x(2y)

= O -
o »?xj =0, S0 e/ther X=0 ofj.-:cg,

F:j = - écz,‘jz}w”z

H x=0, ¢l in, o+{724~4:0, nojum-éaﬂfu
W y=0, fill in, ~x?4049=0, x= t4. Critical Points @ (£2,0)
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Co = CA0(X2 +¢,2HV+ l&xq)(m(xzwzf‘/)(o?tj)
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. (0 x2pytg)? - (=% vy H(2) (X272 H ) 2y )
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) ()2 — O -4 =L
ﬁ Yy (2:03 = (‘ﬂ%%r’ gz T Y A
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fxy (2,0 %5 =0
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D) = fulad iy (200 fry 2.0 CO() 0% = e =o
Sinee Pxx (3.0 = Tjg 40, (oncave dnon),  maxipmum at (2,0).
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7.3 - cont.

Frofit = 100x ( ‘/O~8x+sj) +100g (50%?;{”73)
—/600 (‘/0~5’x+§3) — 3000 (50 9;<~75)
F= 4000x - g0 X2+ S00xy + 50697 4900 Xy «;zaoj 2
~{booo + S’OOOx—soe@?"—/Swoo ~ 2 FDOOX #1000

P = TIS000x - §00x? 11400 x4 +(Q/0005 -?Ooﬁ Z~ 190000
Vox = ~I1S000 — 1600x + /900y =©
aP/aj = Moox + QIpoo /#0004, = O
TROOX + {000 = O ’
X=30 | 1400(30)+21p00 = /f’OOj
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eritical ,oomf { 30, $’S‘) o
| Pac= —Jboo
f)&ﬁ = /400 D(x,j)z ("/4,00)0}5/00) ~(/900) * ~ 280, 00O,
fry = /400 D(3048) = %0 000 >

Pxx <O , SO fﬂm?;’Jr (S maximized
when x= 30, 4= 45~ (3000 and "*‘5/62)03

Profit = x (20-5x) ‘f‘g(‘/“o?.j}‘_' CRxyt 9)

P= Rox—sx? +‘/3-‘;gjz ung_z/

= qox - 5x2 *43“5232“ng -l |

Px= Qb0 - le—Rﬂ =0 —y= [O— $Xx - F~4(1b-5x)-ax =Q
Py= % ~y=2x =0 - 40420x ~2x =0
Pxx= 710 I§x = 34

!"jj:- 4 D(x,j)= 4Yo-~4 = 3¢ >0 - X=2 y=0

ij"‘ “d S Px=ml0co 56 (2,0) s a oy

17




79

+.3~-cont

36. (1), (2.2), (60)

j =mx+b
SV ﬁ/;ﬂ *!*J:’ . .
2 . R 5= (mtb =)+ (amrb -2 #{fmrb)
T L b L S = (™ omls ot s i o il t)
e S .l s

HORT £ - A L QB2 ~4f
A+ (36 bl o)
S= Hm? +18mb ~10m +3b2—bb +&

Sn= FIm +8b ~jo =0 —s Ylm +96 -5 =6 .
s

18m +bb-( =0 —» ‘{m+35 3= 02>/4m4—‘/%o
,,??m 9~ 9 =n
l/)*f" Z— “fé_:_j%._.;o = ¥ L 3
-3 -3 7
S = 82
Sk = & D= 820)~ 18%= 10§ >0
Smp = 18 anm-“v 8 >0

So we have g, Winimumn
—-__“—_‘_hn_._:-
SFor “the Som of S? varkg of J[’S%M@é‘é’.

CThe line s 3_:"‘% X + ’3/?




